1#: 45 AT , _
(7t EEBER)

B F

A gedt 4 71,19 i, L4845 150 2, % AATE] 120 2088,

FHEFREMN:
1. ST, Sel B SRS T S EEREMEEF b PSS A BRI R

FHEENE,
2. BAREAIEL B/ NE A RVE , F 2B S EIREEF EXRE B ERIRSRR, BERE,

BEREMEER IR Z X ST
3. SRR . AR A S FEERAEATF E X N EEREN, BERS ERENETED

T LR KA TR
4. BREHRE , WEAREMEEF—IHLEX,
— GEIRE. AT 8 NE, BAE S 5,340 5, ESNMNELHMNMETR, AF-HRFSEARE

K,
1. BHES M={0,1,2) N={zxeZ|s*<1} , ([ M) NN=

A. {-1,0} B. {-1} C. {0} D. -1
2. BEER - R iz=2-i, K wﬁﬁim,mﬁ:
4+33 4+31 3+4i 3443
- 5 B.-5 - C.- 5 D. 5
6
3 (zx-%) BORTF R BT
A. 160 B.-160 C.80 D. -80

4. BEKEAE t BFZIBIEBE R V(o) (BAL THRAD), GBI m (1) (BAL:FTR),WR V(e)=Vy+

uln mTj) (u HEE) V, my ARG EERRE, BiR—/NAFAIRRE m,=1000 T3,
Hrh@a R RN 500 T35, MIAEE N V=0, ¢, BRMEE V(r,)=2 TR/, lrd KF R

B m(s,)= 800 F32, L A EHRARIFER AT B BEALIA (In2~0. 69,1n5~1. 61)
A.4 B.5 C.6 D.7

5. DAL C .y =2px WAH A(1,2) ,F A CHBRR, K PR C E—,0 HBIREAR, N
A.C ITELR TN x=-2
B. AAFO BITETRN 1

D. 7F7E /5 P {15 APOF R&h=A

T 2T
6. B sn7EMiT¥ ABCD H ,AC=2BC=2, LACB= AACD=—6—, /_ADC=_3_JQ|J BD KK

A 23 V21243 J21-63
A.=- B.—~ C— D=

3
[E-024]#%ikE $ 1T (#£4])




2 2

7. BRI B3+ 1 a>b>0) M0 L U P, B0 o 7 5 VR 0 30°H % | 2200

ETABWE,FHAPAB HEK Iy 16,0 E (584

3 o 7 5 2 5 2y
= L= = , —f—= L= ===
AT B.- 129 =1 Cetiz™! D- 6%
1
= -“:' 7] _—— |§: A 3
8. BAERL f(x) ]2(x_3)2_1’x32,:&175ﬁf(f(x)) 25’11‘*&1?51}7
A4 B.3 C. 10 D. 12

TEFERR R 3 NE, BN 6 5,3k 18 &, EH/INEL KW T ASTHEBBEER,
SALEITRIR 6 5, EXHET L/ 2 5, FHEBHE 0 4,
9.BMa>0 B a1, MR a*=2,07 =8,
A& a=2,0ll x4+y=4 B. & x+y=1,M a=16
C. % a>2,0 x+y<4 D. 5 x+y<1,M a>16

10,ERf(z)= cos(cox—-}) -3 coswr, >0, HH f(2) WAL L F x=—;3¢ﬁ(,ﬂ%ﬁf(x) 1E

[ T | e,
A f(x) BIB/NFEEH 27 B.f(w) =1
. :c+§;-r) HfEEs D.f(x) ssfc“—;)

1. BEHBI{a,} 81 n TN S,, B a,.,=a,,,42a, 3 a,=a, %0, 1l
A {a,.,-2a } REHHF B. {a,,-a,} &G
C.{S,,,~-25,} B&2EHKT D. {a,,,,-S,,} BEEHKF

= AR RT3 NE, BIMES 5,215 5,

12. BAGIA o 35 R 3sina+4cosa=4, M tan _;‘.= )
3. %7, 2, R=AEBHSEE A,8,C EAMRRE, AR —(MER B S MK T2 45—

A NEZ5EE] B K ERME T, FARE A 1K g Y
14. B PINREH BR 1B B T E— N IE IR 2R 8879, R IE F b 460 1 JUBA BT Z AN Bt

W BEE 2775, BENS PR IR SR,

15. (13 43)
G, ik 2023 F+ A o, o E R4 W) 2 SR 8 12 BRI MK 100 P REREM

PG UL T BRI .
U4 IR R % FIRT R4S B RS %

N Ay 40\
30A
20
10A
TR AR MK AYK

[E-024]#%pit¥ 2T (4 })



(DREH 99. 9%HHBEINN M ALK 195 R FERM L 1Y) 5174 20
(2) RBZATHER, BUN M AL KR B R BEALAIBL 20 i, 22 o B %k L g 0B R ABOH X,
P(X=k) 37 20 SRR FH K (R REKF LW smEE, % P(X=k) BBR AN, R & 1

1&.
ad—bc)?
Bﬁ':K2= n(_ = Ty o
(a+b) (ct+d) (a+c) (b+d)’
P(K*=k) 0. 050 0.010 0. 001
ok 3. 841 6. 635 10. 828
16. (15 43)

FE=HEHE ABC-A,B,C, % ,AC L BC,AC=BC=AA,=2,E,F 533 A,B, ,AC 1% 4~z
&, EF= 3, |

(1)3KIUE:AE L BC;
(2)#& AE=2 3R C-AA,-B WIEF 1.

17. (15 4%)
B HE C:——=1(a50,b>0) KIE.LERY5 , K P(3,4) % C k.
"

(1)RIBLE C HTE;
(2 Ei% | SR C RTRRMTLSA,B,EHL PA, PB SRR MBI, TEW Bk | i



18. (17 4})
L HIBRRLE f(x) =In (x+a) | 12k Liy=x Y5 )il12k y=/(x) H).
(1)3RIHL o BOAI

(2) A F(x) =E+f(x) A 2,2, RSB m S

19. (17 43)
ERTEZ5 451 [ a | ,2,20,ig 4,
(1)%{::,,}%32,0,2,4,2,0,2,4,--

=max{a, 1@3,°*,a,} B, =min {a,,, 1@z} d, =A,~B..

S B—NEA Y 4 BB (B VheN®

!an+4=an),E§§&i d,
dy,dy,dy BIMH :

(ﬂ%l%fﬂﬂﬁﬁﬂﬁyﬂ,iﬂffﬁ: dn,eN" {75 2% n>n, B ,d, BE¥K,

(3)& d BIEH

BHER . d, =-d(n=1 02,3 ) TR LB SNy {0 | ARER d HELEKF).





